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EBE ™. =FH. LFE. RRET 100.0 B B B 0.6 0.9 93 963
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589



(11) REVNSEEOFI PR

RHKBEEMEE
EEITOVIRI
3 B piE| A A =3 [ES
& 1z it 1= i it &
i A 2 1 2 1 # A
& £ s & s & 5] &
# =2 3 2 3 2 Fl
= E1 5 3 3 &
= 2 L
)4 -4 AN
(A
s & 4900 9 8 20 16 33 84| 4730
100. 0 0.2 0.2 0.4 0.3 0.7 1.7 96.5
- 400 2 2 - 2 6 22 366
AFNR 100. 0 0.5 0.5 - 0.5 1.5 55  91.5
- 400 3 1 2 - 1 3 390
RIK 100. 0 0.8 0.3 0.5 - 0.3 0.8 975
400 - - 2 2 3 - 393
AHE 100. 0 - - 0.5 0.5 0.8 -] 98.3
- 300 - - 1 - 1 2 296
ARE 100. 0 - - 0.3 - 0.3 0.7 98.7
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. - 150 - - 2 - - 5 143
BIET. #ikm. #@EH. TA™ 100.0 B B 13 B B 33 95 3
N . 100 - - - 1 2 1 96
RE . FEETh. ATNAET. FIIRET 100.0 B B B 10 20 10 96.0
DN 200 1 - 1 - 1 3 194
WEM. FEB. REH 100.0 0.5 | o5 - 0.5 1.5 97.0
. — N 350 - - 1 1 3 2 343
ERE™H. EFH. L FET. WIKE 100.0 B B 0.3 0.3 0.9 0.6 98.0
_ - 200 - 1 1 1 3 3 191
=/®. Fih 100. 0 - 0.5 0.5 0.5 1.5 1.5 95.5
400 1 - 1 - - 2 396
i 100. 0 0.3 - 0.3 - - 0.5 99.0
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RE . FEETh. ATNAET. FIIRET 100.0 B B B 30 30 1.0 830
— 200 i i 2 6 14 55 121
WEM. FEB. REH 100.0 0.5 0.5 1.0 3.0 7.0, 275 60.5
N . 350 - - 1 2 5 16 326
EBE ™. =FH. LFE. RRET 100.0 B B 0.3 0.6 14 46 93 1
_ - 200 = i 1 7 9 25 157
=/®. Fih 100. 0 | o5 o5 3.5 45 125 185
400 = 1 1 - - 1 397
i 100. 0 1 03 03 - | 03] 993
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K
kil 100. 0 | o5 - 1.5 0.8 1.0 96.3
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: 400 - 4 - 2 3 3 388
K
kil 100. 0 - 1.0 - 0.5 0.8 0.8/ 97.0
- 200 - 1 3 - - - 196
®AMm. 2FH 100. 0 - 0.5 1.5 - - - 980
J 200 - - - 1 - - 199
WARD 100.0 - - - 0.5 - - 99.5

593



(11) REVNFEEOFI IR
TILBBD ORIV T 5—

EEITOVIRI
3 B piE| A A =3 [ES
& 1z it 1= i it &
=i A 2 1 2 1 £ A
% & s ] s ] ) &
# =2 3 2 3 2 Fl
B | & ] & =
2 = L
E B A
(A
+ @ 2900 9 ¥ 17 30 50 179] 4603
100.0 02 02 0.3 0.6 1.0 93.9
:_ 400 i 2 2 1 4 390
AFNR 10000 03 05 0.5 0.3 1.0 -| 915
- 400 4 - - 1 2 16 377
RIK 100. 0 1.0 - | 03 0.5 4.0 943
400 - i i 4 1 1 392
AHE 100. 0 4 03 03 10 0.3 0.3 980
n 300 = - - 1 2 9 288
ARE 100. 0 - - | 03 0.7 3.0, 96.0
400 = i 3 - - 5 391
=2
EmR 100. 0 1 03 os - - 1.3 97.8
400 = 2 - 2 3 20 373
B 100. 0 | o5 | o5 0.8/ 50 933
. 400 = 1 . 2 2 12 383
THRE 100. 0 1 03 | o5 0.5 3.0 958
. - 150 i - i - - 3 145
BIET. #ET. #wiEm. 75T 100.0 0.7 B 0.7 B B 20 96. 7
N . 100 - - 2 2 2 5 89
RE . FEETh. ATNAET. FIIRET 100.0 B B 20 20 20 50 89.0
— 200 i i 2 2 13 46 135
WEM. FEB. REH 100.0 0.5 0.5 1.0 1.0 6.5 230 615
. . 350 - - - 3 6 19 322
EBE ™. =FH. LFE. RRET 100.0 B B B 0.9 17 54 920
_ - 200 i i i 9 9 37 142
=/®. Fih 100.0/ 05 05 0.5 4.5 4.5 185 710
400 1 - 1 - 1 1 396
i 100.0, 0.3 - 03 | 03 0.3 99.0
; 400 - i 3 2 4 4| 386
K
kil 100. 0 | 03 os 0.5 1.0 1.0 96.5
- 200 = 1 1 2 - 1 195
®AMm. 2FH 100. 0 | o5 o5 1.0 | o5 915
= 200 = - - - - 199
WARD 100.0 - - - - 0.5 - 99.5

594



(11) REVNFEEOFI IR
TIRE-IARF

EEITOVIRI
3 B piE| A A =3 [ES
& 1z I 1z I 1z &
=i A 2 1 2 1 £ A
% & s ] s ] | &
# =2 3 2 3 2 Fl
B | & ] B [
2 = L
E B A
(A
: & 4900 6 21 15 26 28 96 4708
100.0 0.1 0.4 0.3 0.5 0.6 2.0, 96.1
— 400 1 4 - 3 3 1 388
AFNR 100.0/ 0.3 1.0 - 0.8 0.8 0.3, 97.0
N 400 2 2 i 1 1 10 383
RIK 100.0, 0.5 0.5 0.3 0.3 0.3 2.5/ 95.8
400 - - 2 3 1 2 392
AHE 100. 0 - - o5 0.8 0.3 0.5/ 98.0
- 300 i - - - 1 4 204
ARE 100.0, 0.3 - - - 0.3 1.3 98.0
400 - 1 i 1 - 5 392
=2
EmR 100. 0 | o3 0.3 0.3 - 1.3 98.0
400 - 5 - 2 6 27 360
B 100. 0 - 1.3 - 0.5 1.5 6.8/ 90.0
. 400 - 1 i 1 2 6 389
THRE 100. 0 -1 03 0.3 0.3 0.5 1.5 97.3
. ,_ 150 - 1 1 1 - 2 145
BIET. #ET. #wiEm. 75T 100.0 B 0.7 0.7 0.7 B 13 96. 7
N . 100 - - 2 - i 3 o4
RE . FEETh. ATNAET. FIIRET 100.0 B B 20 B 10 30 94.0
— 200 1 - 1 i 6 1 180
WEM. FEB. REH 100.0 0.5 | o5 0.5 3.0 5.5 90.0
N — o 350 - i - 2 3 4 340
EBE ™. =FH. LFE. RRET 100.0 B 0.3 B 0.6 0.9 11 97 1
_ N 200 - 3 2 3 2 18 172
=/®. Fih 100. 0 - 1.5 1.0 1.5 1.0 9.0, 86.0
400 - 2 - 1 - 1 396
i 100. 0 | o5 - 0.3 - 0.3, 99.0
: 400 i 1 i 5 2 2 388
K
kil 100.0, 0.3 0.3 0.3 1.3 0.5 0.5/ 97.0
- 200 - - 3 1 - - 196
®AMm. 2FH 100. 0 - - 1.5 0.5 - - 980
J 200 - - - 1 - - 199
WARD 100.0 - - - 0.5 - - 99.5

595



(11) REVNSEEOFI PR

AA>E-)IH
EEITOVIRI
3 B piE| A A =3 [ES
& 1z I 1z I 1z &
i A 2 1 2 1 # A
% & s ] s ] ) &
# =2 3 2 3 2 Fl
B | & ] & =
2 = L
E B A
L
+ @ 2900 6 15 24 26 77 90 4712
100.0 0.1 0.3 05 0.5 0.6 1.8 96.2
:_ 400 1 3 2 1 1 2 390
AFNR 100.0 03 08 0.5 0.3 0.3 0.5/ 975
- 400 3 1 1 2 - 8 385
RIK 100.0 08 03 03 0.5 | 20 963
400 - 1 1 4 i T 303
AHE 100. 0 4 03 03 10 0.3 | 983
n 300 = 1 - - 1 3 295
ARE 100. 0 - 03 - | 03 1.0 983
400 = 1 i . - 6 392
=2
EmR 100. 0 4 03 o3 - - 1.5/ 98.0
400 = 1 4 . 2 15 378
B 100. 0 1 03 1.0 | o5 3.8 945
. 400 = 1 - 2 3 5 389
THRE 100. 0 1 03 | o5 0.8 1.3 97.3
. - 150 = - 2 - 1 2 145
BIET. #ET. #wiEm. 75T 100.0 B B 13 B 0.7 13 96. 7
N . 100 = - 3 i 2 7 87
RE . FEETh. ATNAET. FIIRET 100.0 B B 30 10 20 70 87.0
— 200 i 3 1 4 6 24 161
WEM. FEB. REH 100.0 0.5 1.5 0.5 2.0 3.0 120 805
. . 350 - - 1 3 3 8 335
EBE ™. =FH. LFE. RRET 100.0 B B 0.3 0.9 0.9 93 95 7
_ - 200 = i 3 1 5 6 184
=/®. Fih 100. 0 | o5 1.5 0.5 2.5 3.0 92,0
400 = 1 1 1 - T 397
i 100. 0 1 03 03 0.3 - | 993
; 400 i - 3 4 2 4| 386
K
kil 100.0, 0.3 | o8 1.0 0.5 1.0 96.5
- 200 - i 1 2 - - 196
®AMm. 2FH 100. 0 | o5 o5 1.0 - -| 980
= 200 = - - 1 . . 199
WARD 100.0 - - - 0.5 - - 99.5
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RIK 100.0, 1.3 | o5 - | 03 o0
400 - i 1 3 i T 304
AHE 100. 0 | o3 03 o8 03 | 985
n 300 = - 1 - 1 i 297
ARE 100. 0 - - 03 -l 03 03 990
400 = = 1 i - 3 395
=2
EmR 100. 0 - 03 03 | o8 988
400 = = 1 3 2 3 391
B 100. 0 - | o3 os 05 08 978
. 400 = - 1 1 1 7 390
THRE 100. 0 - | o3 03 03 1.8 97.5
. - 150 = - 1 3 1 14 131
BIET. #ET. #wiEm. 75T 100.0 B B 0.7 20 0.7 9.3 87 3
N . 100 = - 1 1 2 2 94
RE . FEETh. ATNAET. FIIRET 100.0 B B 10 10 20 20 94.0
— 200 2 i - - 1 1 195
WEM. FEB. REH 100. 0 1.0 0.5 - - 0.5 0.5/ 975
N o 350 - - . i 3 YY)
EBE ™. =FH. LFE. RRET 100.0 B B B 0.3 0.9 11 97 7
_ - 200 = i i 2 2 3 191
=/®. Fih 100. 0 | o5 o5 1.0 1.0 1.5/ 95.5
400 = - 2 - 1 T 397
i 1000 - o5 03 S| 99.3
; 400 = 3 1 2 4 2 388
K
kil 100. 0 | o8 03 o5 10 0.5 970
- 200 i 2 - 1 - - 196
®AMm. 2FH 100.0, 0.5 1.0 | o5 - -| 980
= 200 - - - . . 199
WARD 100.0 - - 0.5 - - - 99.5
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RIK 100.0 0.3 10 03 03 | 03 o0
400 - - 1 3 2 T 304
AHE 100. 0 - | o3 o8 o5 | 985
n 300 = = - 1 1 2 296
ARE 100. 0 - - |03 03 07 987
400 = = . 1 - 5[ 394
=2
EmR 1000 - - 03 | 1.3 e85
400 = i i 2 2 3 391
B 100. 0 | 03 03 05 o5 08 978
. 400 = 1 - 1 1 8 389
THRE 100. 0 1 03 | 03 03 20 973
. - 150 i 1 2 6 1 37 90
BIBT. BAK®D. WAEDH. T5H 100.0 07 07 237 40 73 247 600
N . 100 - - 1 2 1 2 94
RE . FEETh. ATNAET. FIIRET 100.0 B B 10 20 10 20 94.0
— 200 2 i - - 1 1 195
WEM. FEB. REH 100. 0 1.0 0.5 - - 0.5 0.5/ 975
N o 350 - - . i 3 YY)
EBE ™. =FH. LFE. RRET 100.0 B B B 0.3 0.9 11 97 7
_ - 200 = = 2 - 4 3 191
=/®. Fih 100. 0 - - 10 | 20 1.5/ 95.5
400 = 2 - . 1 1 396
i 100. 0 | o5 - -l 03 03 990
; 400 i 4 2 i 2 2 388
K
kil 100.0, 0.3 1.0 05 03 o5 05 970
- 200 - 2 1 1 - - 196
®AMm. 2FH 100. 0 -1 10 o5 05 - -| 980
= 200 = - 1 - . . 199
WARD 100.0 - - 0.5 - - - 99.5
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ARE 100.0 - - - - 0.7 1.3 98.0
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=2
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400 = = 2 i 2 1 392
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. 400 i - 1 1 1 4 392
THRE 100.0, 0.3 | o3 03 03 1.0 98.0
. - 150 - - 1 - 2 3 144
BIET. #ET. #wiEm. 75T 100.0 B B 0.7 B 13 20 96. 0
N . 100 = i - 2 1 2 o4
RE . FEETh. ATNAET. FIIRET 100.0 B 10 B 20 10 20 94.0
— 200 i 1 . 1 1 2 194
WEM. FEB. REH 100.0 0.5 0.5 0.5 0.5 1.0 97.0
N o 350 - - . 1 3 YY)
EBE ™. =FH. LFE. RRET 100.0 B B B 0.3 0.9 11 97 7
_ - 200 = = i 2 3 3 191
=/®. Fih 100. 0 - | o5 1.0 1.5 1.5/ 95.5
400 = 2 - - - 1 397
i 1000 | o5 - - | 03] 993
; 400 = 3 3 2 2 3 387
K
kil 100. 0 | o8 08 05 05 08 968
- 200 = 2 1 1 - - 196
®AMm. 2FH 100. 0 -1 10 o5 05 - -| 980
= 200 = - 1 - . . 199
WARD 100.0 - - 0.5 - - - 99.5
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AHE 100.0 - - 0.5 0.8 0.3 0.3 98.3
N 300 - - - - 3 3 294
ARE 100.0 - - - - 1.0 1.0 98.0
400 - - 1 1 - 1 397
=2
EmR 100.0 - - 0.3 0.3 - 0.3 99.3
400 - 1 - 1 5 3 390
B 100.0 - 0.3 - 0.3 1.3 0.8  97.5
. 400 - - - 2 2 4 392
THRE 100.0 - - - 0.5 0.5 1.0l 980
. - 150 - - 1 - 2 2 145
BIET. #ikm. #@EH. TA™ 100.0 B B 0.7 B 13 13 96. 7
N . 100 - - - 4 - 2 94
Ry T., fEm. AINET. FIRET 100.0 B B B 40 B 20 94.0
DN 200 1 - 2 - 1 1 195
WEM. FEB. REH 100.0 0.5 - 1.0 - 0.5 0.5/ 975
. — . 350 - - - 1 2 3 344
ERE™H. EFH. L FET. WIKE 100.0 B B B 0.3 0.6 0.9 98. 3
— - 200 - - 1 1 3 4 191
=/®. Fih 100.0 - - 0.5 0.5 1.5 2.0 95.5
400 1 - - 1 - 1 397
i 100.0 0.3 - - 0.3 - 0.3 99.3
. 400 - 2 1 4 4 2 387
K
kil 100.0 - 0.5 0.3 1.0 1.0 0.5 96.8
- 200 1 - 2 1 - - 196
®AMm. 2FH 100.0 0.5 - 1.0 0.5 - - 98.0
s 200 - - - - - 199
WARD 100.0 - - - - 0.5 - 99.5
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RIK 100. 0 1.0 0.5 - 0.3 - -] 98.3
400 - 1 1 3 1 - 394
AHE 100. 0 - 0.3 0.3 0.8 0.3 -] 98.5
- 300 - - - - 3 3 294
ARE 100.0 - - - - 1.0 1.0 98.0
400 - 1 1 - - 4 394
=2
EmR 100. 0 - 0.3 0.3 - - 1.0/ 98.5
400 - - 2 3 2 3 390
B 100. 0 - - 0.5 0.8 0.5 0.8 975
. 400 - - 2 - 2 5 391
THRE 100. 0 - - 0.5 - 0.5 1.3 97.8
. - 150 - - 1 2 1 2 144
BIET. #ikm. #@EH. TA™ 100.0 B B 0.7 13 0.7 13 96. 0
N . 100 - - - 3 1 4 92
RE . FEETh. ATNAET. FIIRET 100.0 B B B 30 10 40 92.0
R 200 1 - 1 - 1 1 196
WEM. FEB. REH 100.0 0.5 | o5 - 0.5 0.5/ 980
. — N 350 - - 1 2 1 6 340
ERE™H. EFH. L FET. WIKE 100.0 B B 0.3 0.6 0.3 17 97 1
_ - 200 - - 1 3 2 4 190
=/®. Fih 100. 0 - - 0.5 1.5 1.0 2.0 95.0
400 - - 2 - - 3 395
i 1000 - o5 - | 08 988
. 400 - 1 4 4 - 3 388
K
kil 100. 0 - 0.3 1.0 1.0 - 0.8 97.0
= 200 - 1 2 1 - - 196
®AMm. 2FH 100. 0 - 0.5 1.0 0.5 - -l 98.0
P 200 - - - - 1 - 199
WARD 100.0 - - - - 0.5 - 99.5
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N 400 2 2 2 1 - 1 392
RIK 100.0, 0.5 0.5 0.5 0.3 - 0.3 98.0
400 1 2 1 2 2 - 392
AHE 100.0, 0.3 0.5 0.3 0.5 0.5 -l 980
- 300 1 - - - 2 2 295
ARE 100.0, 0.3 - - - 0.7 0.7, 98.3
400 - - i 1 - 3 395
=2
EmR 100. 0 - - 03 0.3 - 0.8/ 98.8
400 - 1 1 1 4 - 393
B 100. 0 | 03 0.3 0.3 1.0 -| 983
. 400 i 1 - 1 1 4 392
THRE 100.0, 0.3 0.3 - 0.3 0.3 1.0 98.0
. ,_ 150 - - 1 1 1 2 145
BIET. #ET. #wiEm. 75T 100.0 B B 0.7 0.7 0.7 13 96. 7
N . 100 - 1 1 2 - 2 94
RE . FEETh. ATNAET. FIIRET 100.0 B 10 10 20 B 20 94.0
— 200 1 - 1 - 2 - 196
WEM. FEB. REH 100.0 0.5 | o5 - 1.0 -| 980
& = o 350 - - - i 1 4 344
EBE ™. =FH. LFE. RRET 100.0 B B B 0.3 0.3 11 98. 3
_ N 200 - - 4 - 4 1 191
=/®. Fih 100. 0 - -l 20 - 2.0 0.5/ 955
400 - 1 1 - - 1 397
i 100. 0 -1 03 0.3 - - 0.3 99.3
: 400 - 1 2 3 4 2 388
K
kil 100. 0 | 03 0.5 0.8 1.0 0.5/ 97.0
- 200 - 2 - 2 - - 196
®AMm. 2FH 100. 0 - 1.0 - 1.0 - 98.0
J 200 - - - - 1 198
WARD 100.0 - - - - 0.5 0.5 99.0
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:_ 400 1 2 2 1 4 30| 360
AFNR 10.0 03 05 05 03 10 7.5 900
- 400 3 1 - 2 - 220 372
RIK 100.0 08 03 | o5 | 55 930
400 - 1 2 2 7 4] 348
AHE 100. 0 | 03 o5 05 1.8 10.0 87.0
n 300 = 2 - - 4 18] 276
ARE 100. 0 4 o7 - - 1.3 6.0, 92.0
400 = 1 . i - 32 366
=2
EmR 100. 0 - 03 | 03 -| 8ol 95
400 = 2 2 2 2 28] 362
B 100. 0 | o5 05 05 10 7.0 905
. 400 = - 1 4 2 43 350
THRE 100. 0 - | 03 10 0.5 108 815
. - 150 = i 1 1 1 12 134
BIET. #ET. #wiEm. 75T 100.0 B 0.7 0.7 0.7 0.7 8.0 89 3
N . 100 = 1 1 2 - 4 92
RE . FEETh. ATNAET. FIIRET 100.0 B 10 10 20 B 40 92.0
— 200 i 1 1 1 i 7 188
WEM. FEB. REH 100.0 0.5 0.5 0.5 0.5 0.5 3.5 940
N . 350 - - - 1 3 10 336
EBE ™. =FH. LFE. RRET 100.0 B B B 0.3 0.9 29 96.0
_ - 200 = 2 . 1 4 13 180
=/®. Fih 100. 0 10 | o5 20 65 900
400 i - i 2 3 33 360
i 100.0, 0.3 | 03 o5 o8 83 9.0
; 400 - 3 2 4 5 271 359
K
kil 100. 0 | o8 o5 1.0 1.3 6.8 898
- 200 i 1 1 1 1 16 179
®AMm. 2FH 1000 05 05 05 05 05 80 8.5
= 200 - - 1 1 1 14 183
WARD 100.0 - | o5 o5 05 7.0, 915
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400 - 2 1 2 1 4 390
AHE 100. 0 | o5 03 05 03 1.0 97.5
n 300 = - 2 1 1 5[ 201
ARE 100. 0 - .07l 03 03 1.7, 97.0
400 = = 1 - 1 7 391
=2
EmR 100. 0 - 03 | 03 1.8 97.8
400 = i 2 i 4 7 385
B 100. 0 | o3 o5 03 1.0 1.8 96.3
. 400 = 1 - 3 2 o 385
THRE 100. 0 1 03 | o8 o5 23 963
. - 150 = - i 1 1 2 145
BIET. #ET. #wiEm. 75T 100.0 B B 0.7 0.7 0.7 13 96. 7
N . 100 = - 1 2 1 4 92
RE . FEETh. ATNAET. FIIRET 100.0 B B 10 20 10 40 92.0
— 200 i i 1 - 1 2 194
WEM. FEB. REH 100.0 0.5 0.5 0.5 - 0.5 1.0 97.0
N . 350 - - - 2 2 YY)
EBE ™. =FH. LFE. RRET 100.0 B B B 0.6 0.6 11 97 7
_ - 200 i = i 2 4 3 189
=/®. Fih 100.0 0.5 | o5 10 2.0 1.5/ 94.5
400 1 - 2 - 2 5[ 390
i 100.0, 0.3 | o5 | o5 1.3 97.5
; 400 - - 2 6 1 7 384
K
kil 100. 0 - | o5 1.5 0.3 1.8 96.0
- 200 = 2 - 2 - 5 191
®AMm. 2FH 100. 0 10 - 1.0 | 25 955
J 200 = - 1 . 4 194
WARD 100.0 - | o5 o5 20 970
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400 - - 1 4 1 - 394
AHE 100. 0 - - 0.3 1.0 0.3 -] 98.5
- 300 - - - 2 3 1 294
ARE 100. 0 - - - 0.7 1.0 0.3 98.0
400 - - - 1 1 2 396
=2
EmR 100. 0 - - 0.3 0.3 0.5 99.0
400 1 1 - 2 2 4 390
B 100. 0 0.3 0.3 - 0.5 0.5 1.0, 97.5
. 400 - - 1 1 3 3 392
THRE 100. 0 - - 0.3 0.3 0.8 0.8/ 98.0
. - 150 1 - 1 - 1 1 146
BIET. #ikm. #@EH. TA™ 100.0 0.7 B 0.7 B 0.7 0.7 97 3
N . 100 - - 1 1 2 2 94
RE . FEETh. ATNAET. FIIRET 100.0 B B 10 10 20 20 94.0
DN 200 1 1 1 - 1 - 196
WEM. FEB. REH 100.0 0.5 0.5 0.5 - 0.5 -| 980
. — N 350 - - - 1 2 4 343
ERE™H. EFH. L FET. WIKE 100.0 B B B 0.3 0.6 11 98.0
_ - 200 - 1 - 2 3 3 191
=/®. Fih 100. 0 - 0.5 - 1.0 1.5 1.5 95.5
400 - 1 1 - 1 1 396
i 100. 0 - 0.3 0.3 - 0.3 0.3 99.0
. 400 - 1 2 4 3 3 387
K
kil 100. 0 - 0.3 0.5 1.0 0.8 0.8/  96.8
- 200 - 2 1 1 - - 196
®AMm. 2FH 100. 0 - 1.0 0.5 0.5 - 98.0
P 200 - - - 1 - 198
WARD 100.0 - - - 0.5 - 0.5 99.0
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- 400 17 21 39 49 36 97 141
1000 43 53 98 123 90 243 353
400 7 22 38 83 56 82 152
AHE 100.0 1.8 55 9.5 108 140 205 380
P 300 6 14 39 32 30 70 109
= 100.0 20 47 130/ 107 100 _ 233 363
400 12 27 50 37 63 79 132
=2
EmR 1.0 30 68 125 93 158  19.8 330
400 8 26 44 50 54 66 152
B 1.0 20 65 110 125 135 _ 16.5 380
. 400 10 32 62 55 51 58 132
THRE 100,00 25| 80 155  13.8 12.8/ 14.5  33.0
. - 150 1 - 1 1 5 25 117
BIBT. BAK®D. WAEDH. T5H 100.0, 0.7 o7l 07 33 1617 180
N . 100 - - - 5 5 8 82
RE . FEETh. ATNAET. FIIRET 100.0 a a - 50 50 3.0 820
— 200 2 - 2 2 4 33 157
WEM. FEB. REH 100. 0 1.0 - 1.0 1.0 2.0, 16.5 _18.5
N mm 350 2 - 4 3 9 47 285
EBE ™. =FH. LFE. RRET 100.0 0.6 ~ 11 0.9 26 134 814
_ - 200 - i 4 8 13 37 137
=/®. Fih 100. 0 | o5 20 40 65 185 685
400 i 3 8 21 32 78 257
i 1.0 03 08 20 53 80 19.5 643
; 400 1 1 5 13 14 57 309
IR
kil 100.0 03 03 1.3 33 35 143 713
- 200 1 3 5 7 7 31 146
®AMm. 2FH 100.0, 0.5 1.5, 2.5 35 35 155 730
J 200 - - 1 3 6 23 167
WARD 100. 0 - 1 os 15, 30 115 835
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400 1 - 2 3 5 13 376
=2
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N . 100 1 7 3 14 13 25 37
BRI, RRMH. FINET. RARET) 007 1.0 7.0 3.0, 140  13.0 250/ 37.0
DN 200 4 18 19 29 26 26 78
WEM. FEB. REH 100. 0 2.0 9.0 9.5| 14.5| 130 130 39.0
. — N 350 - - - 3 3 13 331
ERE™H. EFH. L FET. WIKE 100.0 B B B 0.9 0.9 37 94 6
_ - 200 - - 1 5 5 15 174
=/®. Fih 100. 0 - - 0.5 2.5 2.5 7.5 87.0
400 - 1 1 - 1 5 392
i 100. 0 - 0.3 0.3 - 0.3 1.3 98.0
. 400 1 - 3 8 2 6 380
K
kil 100. 0 0.3 - 0.8 2.0 0.5 1.5 950
- 200 - 2 - 2 1 3 192
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RE . FEETh. ATNAET. FIIRET 100.0 B 10 B 20 10 50 91.0
— 200 i - i 1 3 13 181
WEM. FEB. REH 100. 0 5 | o5 0.5 1.5 6.5 90.5
. o 350 5 17 ) 48 50 75 113
FRET. £FH. SFELBRET 000 4 49 120 137 143 214  32.3
_ - 200 1 13 31 40 24 38 53
=/®. Fih 100. 0 5| 65 155  20.0 120 190 _ 26.5
400 - 2 - - - o 389
i 1000 | o5 - - 23 913
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K
kil 100. 0 | o8 13 o8 13 23 938
- 200 = 2 1 3 1 4 189
®AMm. 2FH 100. 0 4 10 o5 1.5/ 05 20 945
= 200 = - 1 1 1 2 195
WARD 100.0 - | o5 o5 05 1.0 97.5
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ARE 100.0, 0.3 - | 03 1.0 40 943
400 - 2 . 2 12 22 362
=2
EmR 100. 0 | o5 | o5 3.0, 55 905
400 = - 3 1 2 14 380
B 100. 0 - - o8 0.3 0.5 3.5 950
. 400 = i 1 1 3 14 380
THRE 100. 0 03 o3 0.3 0.8/ 35 950
. - 150 = - 1 - 2 6 141
BIET. #ET. #wiEm. 75T 100.0 B B 0.7 B 13 40 94.0
N . 100 = i - i 1 2 95
RE . FEETh. ATNAET. FIIRET 100.0 B 10 B 10 10 20 950
— 200 3 - i - 1 5 190
WEM. FEB. REH 100. 0 1.5 | o5 - 0.5 2.5/ 950
N . 350 - - - 2 4 13 331
EBE ™. =FH. LFE. RRET 100.0 B B B 0.6 11 37 94 6
_ - 200 = = 2 1 5 13 179
=/®. Fih 100. 0 - - 1.0 0.5 2.5 6.5 89.5
400 7 26 44 58 74 64 127
i 100. 0 1.8 6.5| 110 145 185 16,0  31.8
— 400 9 4 45 62 60 77 106
100,00 23] 103 113 155 150 _ 19.3] 265
- 200 4 20 20 27 35 36 58
®AMm. 2FH 100,00 2.0 100 10.0 135 175/ 18.0, 29.0
J 200 6 15 26 25 22 40 66
WARD 100.0f 3.0 7.5 130l 125 110l 200 330

609




XARBVN\EIEZFI I HIEE

o

TSNS T @B AT DD

NI ok

iR =R A

oSN

Wt A 0D A S R o R
o' N

T SEF T N\ 7 O N TR

P

-

o b hE S B B BT O W
O T 4 T R O

SRR Y
O NEEREME SRR
O F NI A A C S A Bo B

9t 34 ot S
CTNNACRIMEOSF
U oA - gt

N
~
)
w
3]
©

3]
-

o~
S

N
N o
o N
)

w
N

s = == o
I oo nofo nofo AN ©

s = =]

| [ =1

| |00 o[~ o o0 o »1|—= o w|o =

I o Nl wofo no

I oMo N~ = wio Mo Mo o = (o o
| [© = oo oo wio NN W~ o == o

o =|s wll
oo sl oo

1 o oo =o =] N o oo Nfod B wo> w | o

|

| oo ~of 1

| [© —oo =11
[

|
| o =11

|
| oo =1

| [0 e o Als 01|—= SMlo M= oo oo o o vo oo

I~ =1

| oo wo|s e oo wlon sl oo B oo ww oo Ao oo —fw oo o

1 feo eof
| oo —=|= ol

I eo =l o= wlo wlo == oo »o O|o o o= Moo NS == oo
| w0 = oo vl = w(w wlo ©|lh wlo wl|o ool dw ©rd wlor —=|o oo o= ©

| feo 1

EETOYI5

] R S5 & i} w7 A <7 53 g

& 5 i #® "n ER @y = L

$ ) 25 Z n 545 A | Rt 5 71

iy i »n 3 g = | »HH =R = %

8 = 55 5 [A) b % - fav Fil L

- ] 12 P2 | MR bR A T

i ~ n 5 [ 54 A L A

E ] =} z M . » <

) o) % ~ ] ¥ S

& o 2 o = &Y L

(A | 1+ | 1= n &

pN £ £ E bl 5 n

B El 3 < B
& % 1347 210 249 502 229 54 119 326 337 222
100. 0 15. 6 18.5 37.3 17.0 4.0 8 24.2 25.0 16.5
= 186 25 28 67 40 7 17 57 50 39
i 100.0 13.4 15.1 36.0 21.5 3.8 9.1 30.6 26.9 21.0
2R 70 8 14 24 9 3 14 14 16
100. 0 1.4 20.0 34.3 12.9 4.3 10.0 20.0 20.0 22.9
*EER 71 10 14 20 17 2 10 10 18 9
100.0 14.1 19.7 28.2 23.9 2.8 14.1 14.1 25.4 12.7
BER 72 14 9 24 13 1 4 7 15 6
100. 0 19.4 12.5 33.3 18.1 1.4 5.6 9.7 20.8 8.3
BEE 108 25 23 47 22 8 14 26 29 15
= 100.0 23.1 21.3 43.5 20. 4 7.4 13.0 24.1 26.9 13.9
134 24 21 48 26 4 9 36 37 15
BHE 100.0 17.9 15.7 35.8 19.4 3.0 6.7 26.9 27.6 1.2
TER 126 18 20 49 27 4 9 25 33 28
- 100.0 14.3 15.9 38.9 21.4 3.2 7.1 19.8 26.2 22.2
. P 100 19 19 40 17 2 5 21 20 22
BB . MXT. MilT. TAH 100.0 19.0 19.0 40.0 17.0 2.0 5.0 21.0 20.0 22.0
5 ; 56 11 12 24 4 3 4 21 23 16
AR BT, RB. ARET. FRE 100.0 19.6 21.4 42.9 7.1 5.4 7.1 37.5 41.1 28.6
R 113 14 22 45 12 3 9 36 32 16
BFEH. FAW. KRE 100.0 12.4 19.5 39.8 10.6 2.1 8.0 31.9 28.3 14.2
- y= < i 61 7 7 20 5 3 3 14 13 7
BRED. #FH. LFALARET 40 1.5 1.5 32.8 8.2 4.9 4.9 23.0 21.3 1.5
— ~ 79 10 17 25 7 4 10 33 20 9
=@, Bl 100.0 12.7 21.5 31.6 8.9 5.1 12.7 41.8 25.3 1.4
- 59 10 15 23 7 1 4 7 11 7
100.0 16.9 25.4 39.0 1.9 1.7 6.8 1.9 18.6 1.9
| 57 7 16 20 14 8 7 9 12 6
ki 100.0 12.3 28.1 35.1 24.6 14.0 12.3 15.8 21.1 10.5
= 30 5 8 16 4 - 4 5 3 6
#AT. ZFH 100. 0 16.7 26.7 53.3 13.3 - 13.3 16.7 10.0 20.0
P 25 3 4 10 5 1 3 5 7 5
WARD 100.0 12.0 16.0 40.0 20.0 4.0 12.0 20.0 28.0 20.0

|
N

O PO — oo —|— wofor Nfwo N == s

o N ol —w oo o

610



XARBYNEIEZFI AU VR

EEITOVIRY

O DO XV F|— O O O 0D DD O LOIN OM MDD ~O IO D~ 0O D
© o0 ~ )| (Y2} ™) ~ 0| ~ 0| o ™) (==} LO)| (=] — | o~
ves i e [ T N I TR S O - = I I P I
”126718423042593301393223538m14413
IRE VB L v DL KBEmIs —<| w o . m <« m o o o < o o o o«
RB5R0
%668423929616331103811744339393816
FRSHNNRDS - v N B N I = =1 N N B N =1 R N e R e =
LRBSRO
© ol | NN O M—™m | | [N~~~ Of— ™M | (R} | | I|eN Nl | | [
. T o ol o ~ o I<J BN BN o o
WoENEM OV LIS R0
N8152655143028, I | l|— MmN MNIr~— 0— M > | Ijem r~
ol o o ~ o ~| o o o o o o o -
HUMBESRDS RO
AN M| LO|— M| I—<tf—™ 1 | I I I [N = =N~ It Nf—™| | | [
EHCOSMRELVNRISR | I < sl s -l - S
0
w]]584]32927282720_ oo <o r~| | 1o olm o — O ™~
_ \ L ~ o o o o o o o < ™~ o o o -~
REOUs S H#KERN KO
m77342683344632720_ 1D ™M ON I~ M O | © <
] [N R: [, [N = B P20 [ SR [, (= PN IS
HULKIUVv IR0
w — | I I == <t—™| | | I I I o I I e~ 1 o [0 I I A |
MEEUEOVEHERDS SR i A i
0
— | | I [ {1 I f—mN oo™~ | e | | e~ 1 e =™ | | [
MK QIR0 WK Y < i I I < e
R0
w < | N ©ON©O|— <o~ | | | | | o I I I o | Il NN | ||[—©
" L o o o o o — o o S
oo S KRR S R0
O MAND[ | I|—= | || —<|— < | e | | If— 1 (R} = I|N~—
e P To o <) Sl o o <) <) —
wmSHEmERFELRN OIS KO
w46855552974284530_ | | I |© v—|+— 0| | I|oD @|eN oNjeN —
~RIEVIES RQHEH SR — o | — o « o ~| o o ol o~ -~
0
M7153955_ lfeNr~oN oot | | I I | I 1= | I I I o|lN N|— ©
SR OV SV OV S s ol o = sl o = IS sl - o
P
)0
%3]542 1 o~ —N I~ OfN 0| r— | |~ O ON|N O oN|™» ™~
_ L. — ol ~ ~ o o < ~ o« w — o -~ -
HEHBNWREO ULV 5RO
™~ AN |0 |~ O|AN MO O|M O/ O O[O AN|ON OO OO N[ Ot M| W© | ™~
PN oty [o=lP ol& R T R )= 6| R | | | |2 | S| R | sl = | 2 =
7.7#..@.36\@!«.@%*“‘5‘@ Nl O T~ ~| o o © o m © m o ~ o o o o©
viVKBEY R0
m849422648273127, ] I | I I|Nr~— ©O|— MM | | l|—©
M - LNy NLh— UK ol < ~ o | o ~ o o o o o S}
BURBS RO
MQ, oo olN ©cN o<t <N O — < | e N Mt |t ™ | o r~anaoNf 1|
APNRA—P— UKWV U S} ol o o — o o Y R I - -
5 R0
N492558448]89445]0_ WO I~ <t I — NI WO|— | <t ™
b 5 & I8 I I ] I I I BN 6 oo T e A o o«
BERIES 0
N829263933132845, et I I o lfeNr~N O/t | 1|~
o o o o —~ o o -~ — o = —
EENERHS RO
w]53394233, It —|— O|— M N~ | I|on Ot NN N — ©
ME (EiEP—UK) UER ~ o o — = — ~ & o« e o o ~ — o
RS R0
w43455684830313]]0_ I {eN MmN I~ I~ o3| © r~[™Mm co|™m r~
e \ — — — — — — — — N N o — o — — —
MOEC IR - QWS RO
M OFT OO O|XVONOO©COFOOOTFTOITODO™—O—OMOIo O|In O
O ONOMOMONONONONO (=1 o OINO—OMmOoOMmOoO|—O— O
B f 5 8878787878 E"e g g g8 g g g g e
= =4
R|® S
[l . .
.| & =4
£|E | £ |L
' KR
E LB ,
& | w e £
KB G| | = M
3 .| .| o =]
| S| E S| E . .| E
= =
S| XX E|R|E|E|E|E|®
WL (S| H | &|H|&|[K E|H (| 0|8 |&E|®| @ K
R m | K[ o oo | | ARS8 KB

611



